
Now notice that the terms of the series are not always positive and they do not 
alternate signs.  This means that the comparison test, the limit comparison test, the 
integral test, and the alternatign series test will not work.

Try and check for absolute convergence.

First thing to check is the test for divergence.  Notice that the numerator is 
bounded between ­1 and 1 and as n goes to infinity the denominator will continue 
to grow.  Thus the terms will go to zero as n goes to infinity.

Title: Mar 19­12:44 PM (1 of 1)


	Page 1: Mar 19-12:44 PM

